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N=8 DFT

x(t) = 6(t—t,+1)+ 8(¢t—t,+.5)+ 6(¢t—1t,) y(t) = h(t—t,+1)+ h(t—t,+.5)+ h(t—t,)
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N=8 DFT

x(t) = 6(t—t,+1)+6(t—¢t,+.5)+ 6(t—¢t,)

y(t) = h(t—t,+1)+ h(t—t,+.5)+ h(t—t,)

5(t)+65(t—5)+ 6(t—1) y(t,) = k(1) +h(5)+ h(0)
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N=8 DFT

x(t) = 6(t—t,+1)+ 6(t—¢t,+.5)+ 6(t—¢,)
x(v) = 6(v—t,+1)+6(v—t,+.5) +6(v—t,)
x(t=v) = 6(t—v—t,+1)+ 6(t—v—t,+.5)+ 6(t—v—t,)

y(t) = [x(e=v)h(v) av
= [ s(t—v—t,+1)h(v) dv — h(t—t,+1)
- J S(t—v—t,+.5)h(v)dv — h(t—t,+.5)
+ [s(t—v—t)h(v) dv — h(t—t,)

5(t)+6(t—.5)+ 6(t—1)
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N=8 DFT

y(t) = [ x(v)h(t=v) av

= [ s(v—t,+1)h(t—v) dv = h(t—t;+1)
+ [o(v—t,+.5)h(t—v) dv = h(t—t,+.5)
+ [o(v=t,)h(t=v) dv - h(t—t,)

= [ x(t-v)

= [6(t—v—1,+1)h(v) dv = h(t—1,+1)
+ [ s(t—v—1,+.5) h( ) dv — h(t—t,+.5)
+ [ s(t—v ) dv - h(t—t,)
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Impulse Response
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Impulse Response
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Impulse Response
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Impulse Response
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Impulse Response
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Impulse Response
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Impulse Response
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Impulse Response

x(1) Impulse response y (1)
I = k(1)
1 - 1 g
il o
It »
1 :
A
| 6(t—1) delayed response y(t) = h(t=1)
By 1
1 g . >
Convolution ‘] 6 Y%”Q%YV%”QEE



Impulse Response
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Impulse Response
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Impulse Response
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